Calculating Tier 2 and Tier 3 dimensions

Tier 2 and Tier 3 of the skirt are just 4 giant rectangles, so | figured you wouldn’t want to
waste any time or paper to print those out. You can just use a ruler instead!

YOU WILL NEED TO CUT 2 RECTANGLES OF EACH TIER (4 TOTAL).

WIDTH

Here are the dimensions of Tier 2 and Tier 3 width for each size (based on your HIP
measurement). The width should be cut perpendicular to the selvage edge of your fabric.

Size Tier 2 width Tier 3 width
X-Small 31.5in 80 cm 44 25 in 113 cm
Small 325in 82 cm 455in 115cm
Medium 33in 84 cm 46 in 117 cm
Large 34in 87cm 48 in 121 cm
X-Large 35in 89 cm 49in 125cm
2XL 36.5in 93 cm 51in 130 cm
3XL 38in 96 cm 53in 134 cm
4XL 39.5in 100 cm 55in 140 cm
5XL 41 in 105cm 57.51in 146 cm

HEIGHT

These are the dimensions (for all sizes) for the Tier 2 and Tier 3 rectangle height. The
height should be cut parallel to the selvage edge of your fabric.

If you use the height adjustment calculator and need to add or subtract length, divide
the difference between the three tiers.

Tier 2 height Tier 3 height

13in 34 cm 14.5in 36 cm




